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v R 1.0 RN T D HPE36.0 436, 0 GLA—n: 1 3 4 5 6 8
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JEAT SN K4 it GROSS| HDCP | NET | crossit = JIEAST ZINFE K4 [ 75 | GROSS| HDCP | NET |crossif 3z
1R R 38 38 76| 6.0 | 70.0 3 51 K% AL 49 48 97]21.6 |75.4
21T HpH 48 40 88/ 18.0 | 70.0 YELE IS 52| /NBF P 42 42 84| 8.4 |75.6
30k [ 41 50 91/20.4 | 70.6 3L 53|Yt w2 45 45 90| 14.4 | 75.6
4B HE 39 43 82| 10.8 | 71.2 54| 4 H Fni 44 46 90| 14.4 | 75.6
5 EiE HiZ 50 49 99/27.6 | 71.4 5 f\f 55 \VEAK IE3E 49 47 96/ 20.4 | 75.6
6|5 42 44 86| 14.4 | 71.6 56| PE R (E] 54 48| 102/26.4 | 75.6
TUHH Fnz 38 35 73] 1.2 |71.8 7L 57| MR ZEik 48 47 95/19.2 | 75.8
8| LH &=+ 43 42 85/ 13.2 | 71.8 58|3THE #£3C 50 51| 101/25.2 |75.8
9IF)Il EK 46 39 85| 13.2 | 71.8 59| FH 5 47 41 88/12.0 |76.0
10 | Znidy & 54 46 45 91119.2 | 71.8 60 | EAR] = 51 49|  100/24.0 | 76.0 =1
1B 2 42 41 83/ 10.8 | 72.2 61| KB 44 42 86| 9.6 |76.4
12/ K% 5wk 48 47 95| 22.8 | 72.2 62| 22k Fnok 45 41 86| 9.6 |76.4
13U = 43 39 82| 9.6 |72.4 63| st 50 42 92/ 15.6 | 76.4
14 |F5H 5K 41 46 87/14.4 | 72.6 64|71 EHET 47 51 98] 21.6 | 76.4
15/F 7K fiz 42 50 92/ 19.2 | 72.8 65 =% B2 49 49 98] 21.6 |76.4
16| B f— 43 42 85/ 12.0 | 73.0 66758 FEE 42 56 98] 21.6 |76.4
17 4R F58 49 48 97/ 24.0 | 73.0 67| A AT 49 48 97| 20.4 | 76.6
18R T sl 39 39 78| 4.8 |73.2 68| FEfT fE— 45 52 97/ 20.4 | 76.6
RGN ) 38 40 78/ 4.8 |73.2 69|k B} B H] 43 47 90| 13.2 | 76.8
ESSIEE 44 45 89| 15.6 |73.4 RE 70|V SCHE 46 50 96/ 19.2 |76.8 RE
AR NE P N: 39 43 82| 8.4 |73.6 715657 fit 46 50 96/ 19.2 |76.8
22| B H [t 42 46 88| 14.4 | 73.6 2|14 Kk 46 50 96/ 19.2 |76.8
23 |fEH WH Y 42 52 94/20.4 | 73.6 T3 UA P 47 42 89/ 12.0 |77.0
24|)11f4 E— 35 40 75| 1.2 | 73.8 74| H EER 40 49 89/ 12.0 |77.0
25| [ (B 43 38 81| 7.2 |73.8 75/ Bk 51 44 95/18.0 | 77.0
26 |THE F& 41 46 87| 13.2 | 73.8 76| A% EFE 47 48 95/18.0 | 77.0
27 PR BT 44 43 87/13.2 | 73.8 AN AES 46 49 95/ 18.0 | 77.0
28|k BY 44 49 93] 19.2 | 73.8 78| ZHN ETY 45 50 95/18.0 | 77.0
29 KFF K 45 48 93/ 19.2 | 73.8 79/ KA IEJA 42 46 88]10.8 | 77.2
30| =g HEE 39 41 80| 6.0 | 74.0 Y 80|H)I| B~ 49 45 94| 16.8 | 77.2 FEE
31 e E 41 45 86| 12.0 | 74.0 S1|ARMH h= 39 42 81| 3.6 |77.4
2|HH | 40 45 85 10.8 | 74.2 82| K)~ HET 42 45 87| 9.6 |77.4
33| &S BT 47 44 91/ 16.8 | 74.2 83|k ®_Y 43 50 93/ 15.6 | 77.4
34| KH EE 46 45 91] 16.8 | 74.2 84|35 BB 45 48 93| 15.6 | 77.4
351210 T 41 43 84| 9.6 | 74.4 851 E L 48 45 93/ 15.6 | 77.4
36 [#5H: FHR 45 45 90| 15.6 | 74. 4 86| B B 5 45 47 92| 14.4 | 77.6
373t HA 51 51| 102/ 27.6 |74.4 87| HA o 46 46 92/ 14.4 |77.6
38| B H— 41 48 89| 14.4 | 74.6 88| AL #st—Rl 44 48 92| 14.4 | 77.6
39| KK TEF 41 40 81| 6.0 |75.0 89| —m B 48 50 98] 20.4 | 77.6
40/ H TEA 41 46 871 12.0 | 75.0 RE 90 | NER 52 46 98/20.4 |77.6 RE
41K B 43 44 87/12.0 | 75.0 91 |[MA w#E 48 56| 104]26.4 |77.6
421 A 45 48 93/18.0 | 75.0 92 HK ¥ 45 40 85| 7.2 |77.8
437K TS 42 51 93/ 18.0 | 75.0 93| IET WA 51 58/ 109|31.2 |77.8
44 | FHR 48 44 92| 16.8 | 75.2 94|15 FEZ 52 44 96| 18.0 | 78.0
N = 49 49 98/22.8 | 75.2 95 WG {h== 51 45 96/ 18.0 |78.0
46 N B 47 51 98/ 22.8 | 75.2 06 | ZREL ikt 47 49 96/ 18.0 | 78.0
47 |RRIR 3 53 51| 104]28.8 |75.2 97| B L 56 46| 102]24.0 |78.0
48| KJI| =T 39 40 79| 3.6 | 75.4 98| 5 B 46 43 89/10.8 |78.2
49 BRIR ZE5L 40 45 85| 9.6 | 75.4 99 | Z8A FEIT 45 50 95| 16.8 | 78.2
50\ )11 25k 48 43 91 15.6 | 75.4 i1 100/ 85K F#5 47 47 94| 15.6 | 78.4 i =1
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JIEAE SINE K4 W =[ 78 | GROSS| HDCP | NET | crossiit ik [/=thva SN K4 W [ P8 | GROSS| HDCP | NET |crosshiafi ik
101 |52/ {5 H] 46 54| 100]21.6 | 78.4 151 /N8P 51 61 59| 120]34.8 |85.2
102\ &H B+ 43 44 87| 8.4 |78.6 152| Efk 35— 59 54 113/ 27.6 |85.4
103 B B S 46 47 93 14.4 | 78.6 153 =5 11T 44 62 106/ 20.4 | 85.6
104/ 1L FHk 46 47 93 14.4 | 78.6 154 &% & 55 50/ 105|19.2 |85.8
105 I &% 52 47 99/20.4 | 78.6 155| —kF &4 48 49 97/ 10.8 |86.2
1063 4 || & 52 47 99/20.4 | 78.6 156 | XiG 72 55 60| 115]/28.8 |86.2
107 S H =—8) 53 52 105/ 26.4 | 78.6 1657 #EJt FA 59 55| 114]27.6 |86.4
108 Nk 15 53 52| 105]26.4 |78.6 R EN 52 62| 114/27.6 [86.4
109 7R HER 43 49 92| 13.2 | 78.8 159" A FE 65 56 121/33.6 |87.4
110k 72X X 48 44 92| 13.2 | 78.8 R INIECES 59 60/ 119]/30.0 |89.0
111|5% 50 48 98] 19.2 | 78.8 161 /dedE = 507 63 64 127/36.0 [91.0
112/ B H 5# 50 48 98] 19.2 | 78.8 162|558 FA 63 57| 120/28.8 [91.2
113 FA{EE x5 50 53|  103/24.0 |79.0 163 50 65 115/ 22.8 |92.2
114 |4 IE5E 57 52| 109/30.0 |79.0 164|787 BEG 64 64 128/34.8 |93.2 BB
1158t H3E 49 47 96| 16.8 | 79.2 165 & LA 65 76 141/36.0 [105.0
116| A5 BeiE 49 53|  102]22.8 |79.2 Elf] B NR
eV Tl 38 50 88| 8.4 |79.6 g NGE NR
118 &4 KIv 55 51| 106]26.4 [79.6
119/ 1L FI) R 56 50| 106|26.4 | 79.6
120 | 38) 11 bt 46 53 99/ 19.2 | 79.8 Y
121 &k 82 49 49 98| 18.0 | 80.0
122|#200 aiA 46 51 97| 16.8 | 80.2
12350 = 50 52| 102]21.6 |80.4
124 )\l BY 51 50 101]20.4 |80.6
125 | (i iR 53 48| 101/ 20.4 | 80.6
126 i3 #E3E 53 48|  101]20.4 |80.6
127))\E 0 BT 53 54| 107]26.4 |80.6
128| IRk FEME 48 59 107] 26. 4 |80.6
129 &k Ef5 55 58/ 113]32.4 [80.6
130 A4k s 52 48| 100] 19.2 |80.8 Y
131\ % H fiE— 49 51 100/ 19.2 | 80.8
132 |Gk (B 55 57 112]31.2 |80.8
133 R Fo A 49 50 99/ 18.0 | 81.0
134|5E3E fE— 54 45 99/ 18.0 |81.0
135| &8 B 51 59 110/ 28.8 |81.2
136 Il 5 FEE 60 56| 116]34.8 |81.2
137|211 #2 53 49| 102/ 20.4 |81.6
138| =4F #ik 51 51 102] 20.4 |81.6
1394k FRK 46 54 100| 18.0 |82.0
140\ B/ &1 52 60 112/30.0 |82.0 FRE
141 g £ 53 51 104] 21.6 |82.4
142|551 & 51 59 110]27.6 |82.4
1435 3% 46 57 103/ 20.4 |82.6
144 |[Wilg; B2 45 58 103]20.4 |82.6
145 |{(FHiE ZRH] 48 52 100] 16.8 | 83.2
146 [ H ThH] 57 61 118]34.8 |83.2
147 50 4 50 61 111]27.6 |83.4
148|7K¥F ¥&HA 61 56/ 117]33.6 |83.4
1491 H =15 56 57| 113]/28.8 [84.2
150 #8H: oh= 53 59| 112]/27.6 |84.4 Y
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